VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

PATIO DINING SETS
(SQUARE TABLE)
USER MANUAL

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and doses not necessarily mean to cover all categories of tools offered by us. You
are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brand


http://www.vevor.com/support

% PATIO DINING SETS
VEVOR® s
\

TOUGH TOOLS, HALF PRICE

Note: Please be patient that the other itemsare on the way if you buy more than one product.

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to

contact us: Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.


http://www.vevor.com/support

PRODUCT PARAMETERS

Model | Product Size(LxWxH) éoadlqg material Color
apacity
» " " 300 Ibs
00t (800x800x755mm) 1(28%) Composites | C"@Y

ASSEMBLYPRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be
a hazard.

2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or when under the influence of alcohol,
drugs or medication.

4. Weight and other product properties are only applicable to correctly and
completely assembled products.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.




USE PRECAUTIONS

A WARNING: TO PREVENT SERIOUS INJURY AND DEATH FROM
TIPPING:

1. This product is not a toy.Please keep theproduct away from children
while assembling.

2. Use as intended only. Do not let children play or jump on the product.Do
not stand on the item or use as a step ladder.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4. Tighten the lower screws every three months to prevent loosening of
the legs.

5. Do not exceed the listed weight capacity. Tighten all knobs securely
before applying load. Be aware of dynamic loading! The sudden load
movement may briefly create an excess load, causing product failure.

6. These all-weather items can be stored outdoors year-round.Perfect for
people who lives in a wet climate or lives on the coast where humidity and
moisture will be an issue all year

SAVE THESE INSTRUCTIONS



PARTS LIST

M6*95 Bolt
i
M6*70 Bolt




ASSEMBLY STEPS

STEP1

<
7

Y

STEP2




STEP3 Vi

STEP4




STEPS

COMPLETION




Cleaning and Maintenance
-Use a soft, clean cloth that will not scratch the surface when dusting.
-If you run into scratches problems,wesuggest you erase the scratches by

knife.

-This item could be cleaned with soap andwater.Be sure to avoid harsh
solvents and abrasives.
-Periodically (every 90 days) makesure the screws are fully tightened.

Sanven Technology Ltd.
Address: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

VEVOR

TOUGH TOOLS, HALF PRICE
Technical Support and E-Warranty Certificate
www.vevor.com/support



VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

PATIO DINING SETS
(ARMCHAIR)
USER MANUAL

We continue to be committed to provide you tools with competitive price.
"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You
are kindly reminded to verify carefully when you are placing an order with us if you are
actually saving half in comparison with the top major brand



PATIO DINING SETS

VEVOR' &

TOUGH TOOLS, HALF PRICE
Model: WS-SS-001-A; WS-SS-002-B

Note:Please be patient that the other itemsare on the way if you buy more than one product.

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to

contact us:
Technical Support and E-Warranty Certificate

www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



PRODUCT PARAMETERS

Model | Product Size(WxDxH) Iéoadiqg material Color
apacity
WS-SS- Light
001A | W248"XD252'xH38" | S0 Wood- | Gray
Plastic
QQ. (about :
V[\]IEZSSB (630x640x885mm) 150kG) | COPOSeS | Black

ASSEMBLYPRECAUTIONS

1. Assemble needs to follow these instructions. Incorrect assembly can be
a hazard.

2. Wear safety goggles and heavy-duty work gloves during assembly.

3. Do not assemble when tired or when under the influence of alcohol,
drugs or medication.

4. Weight and other product properties are only applicable to correctly and
completely assembled products.

5. Keep the assembly area clean and well-lit.

6. Keep bystanders out of the area during assembly.

USE PRECAUTIONS

A WARNING: TO PREVENT SERIOUS INJURY AND DEATH FROM
TIPPING:

1. This product is not a toy.Please keep theproduct away from children
while assembling.

2. Use as intended only. Do not let children play or jump on the product.Do
not stand on the item or use as a step ladder.

3. Inspect before every use. Do not use it if parts are loose or damaged.

4. Tighten the lower screws every three months to prevent loosening of
the legs.

5. Do not exceed the listed weight capacity. Tighten all knobs secur
before applying load. Be aware of dynamic loading! The sudden load

2




movement may briefly create an excess load, causing product failure.
6.These all-weather items can be stored outdoors year-round.Perfect for
people who lives in a wet climate or lives on the coast where humidity and
moisture will be an issue all year

SAVE THESE INSTRUCTIONS



PARTS LIST

D \ 1PCS
<§E§
A 1PCS :
E 2PCS
B 1PCS
& \ 1PCS
S AA B 4PCS
c 4+20 Bolt
1PCS
4PCS
B8 M6*50 Bolt
(e —_—
e M6*60 Bolt
‘llHl\ll\HHH\HI\ N
DD M6*70 Bolt 4Pcs
{';/ 1PCS
g 1PCS




ASSEMBLY STEPS

STEP1 ﬁa

STEP2




STEP4




COMPLETION

Cleaning and Maintenance
-Use a soft, clean cloth that will not scratch the surface when dusting.
- If you run into scratches problems,wesuggest you erase the scratches by
knife.
-This item could be cleaned with soap andwater.Be sure to avoid harsh

solvents and abrasives.
- Periodically (every 90 days) makesure the screws are fully tightened.




Sanven Technology Ltd.
Address: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



VEVOR

TOUGH TOOLS, HALF PRICE
Technical Support and E-Warranty Certificate
www.vevor.com/support



Machine Translated by Google

VEVOR'

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

ENSEMBLES DE SALLE A MANGER POUR PATIO

(TABLE CARREE)
MANUEL D'UTILISATION

Nous continuons & nous engager a vous fournir des outils a des prix compétitifs.
« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par nous ne représente qu'une
estimation des économies dont vous pourriez bénéficier en achetant certains outils chez nous par rapport aux principaux
Les meilleures marques et doses ne couvrent pas nécessairement toutes les catégories d'outils que nous proposons. Nous
vous rappelons de bien vouloir vérifier attentivement lorsque vous passez une commande chez nous si vous étes

en fait, vous économisez la moitié par rapport aux grandes marques


http://www.vevor.com/support

Machine Translated by Google

% ENSEMBLES DE SALLE A MANGER POUR PATIO
\

TOUGH TOOLS, HALF PRICE

Remarque : veuillez patienter, car les autres articles sont en route si vous achetez plus d'un produit.

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'assistance technique ?

N'hésitez pas a nous contacter : Assistance technique et certificat de garantie

électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes

les instructions du manuel avant de I'utiliser. VEVOR se réserve le droit
d'interpréter clairement notre manuel d'utilisation. L'apparence du produit

dépend du produit que vous avez regu. Veuillez nous excuser, nous ne vous
informerons plus en cas de mise a jour technologique ou logicielle de notre produit.


http://www.vevor.com/support

Machine Translated by Goggle

PARAMETRES DU PRODUIT

Ch t -
Taille du produit modéle (L x | x H) argemen matériel Couleur
Capacité
” " " de 300 Ib .
WS- L31,5" xL31,5" xH34,8 Bois-
(Max) Plastique Lumiére
SS-001 a propos : Gris
(800x800x755mm) 1(50'°k F)’ Composites
d

PRECAUTIONS D'ASSEMBLAGE

1. L'assemblage doit étre effectué conformément aux instructions ci-dessous. Un assemblage incorrect peut
étre dangereux.

2. Portez des lunettes de sécurité et des gants de travail résistants pendant 'assemblage.

3. Ne montez pas lorsque vous étes fatigué ou sous l'influence de I'alcool, de drogues ou de
médicaments.

4. Le poids et les autres propriétés du produit ne s'appliquent qu'aux produits correctement et
complétement assemblés.

5. Gardez la zone de montage propre et bien éclairée.

6. Gardez les spectateurs hors de la zone pendant le montage.



Machine Translated by Google

PRECAUTIONS D'EMPLOI

AVERTISSEMENT : POUR EVITER LES BLESSURES GRAVES ET LA MORT EN RAISON DU BASCULEMENT :
1. Ce produit

n'est pas un jouet. Veuillez garder le produit hors de portée des enfants pendant I'assemblage.

2. N'utilisez le produit que pour l'usage auquel il est destiné. Ne laissez pas les enfants jouer ou sauter sur le produit.

Ne montez pas sur l'article et ne I'utilisez pas comme escabeau.

3. Inspectez |'appareil avant chaque utilisation. Ne I'utilisez pas si des piéces sont desserrées ou endommagées.

4. Serrez les vis inférieures tous les trois mois pour éviter le desserrage des pieds.

5. Ne dépassez pas la capacité de charge indiquée. Serrez fermement tous les boutons avant d'appliquer la charge.

Soyez attentif a la charge dynamique ! Le mouvement soudain de la charge peut brievement créer une charge

excessive, provoquant une défaillance du produit.

6. Ces articles toutes saisons peuvent étre stockés a I'extérieur toute I'année. Parfait pour les personnes qui vivent

dans un climat humide ou sur la céte ou I'hnumidité et la moisissure seront un probléme toute I'année

CONSERVEZ CES INSTRUCTIONS



Machine Translated by Google

LISTE DES PIECES

2PCS
A 1PCS
F \ 2PCs
o
AA m:DIIIIIIIIIIIHIIIIIIIIIIIIEﬂ> e
B 2PCS M6*95 Boutique
BB { om0 16PCS
M6*70 Bolt
<O
cc MP.. 4PCS
¢ I 2pCS M6*60 Bolt
DD 5- 4pPCs
7 / 2PCS /




slated by Google

ETAPES D'ASSEMBLAGE

Tran

Machine

ETAPE 1

ETAPE 2




Machine Translated by Google

STEPS

STEP4




chine Translated by
ETAPES

COMPLETION




Machine Translated by Google .
Nettoyage et entretien

-Utilisez un chiffon doux et propre qui ne rayera pas la surface lors du dépoussiérage.

-Si vous rencontrez des problémes de rayures, nous vous suggérons d'effacer les rayures avec un
couteau.

-Cet article peut étre nettoyé avec de I'eau et du savon. veillez a éviter les solvants agressifs et
les abrasifs.

-Assurez-vous périodiquement (tous les 90 jours) que les vis sont bien serrées.

Sanven Technologie Ltée.
Adresse : Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie
électronique www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

ENSEMBLE DE SALLE A MANGER POUR PATIOS

(FAUTEUIL)
MANUEL D'UTILISATION

Nous continuons a nous engager a vous fournir des outils & des prix compétitifs.
« Economisez la moitié », « Moitié prix » ou toute autre expression similaire utilisée par nous ne représente qu'une estimation des économies que vous pourriez réaliser en
achetant certains outils chez nous par rapport aux grandes marques et ne signifie pas nécessairement couvrir toutes les catégories d'outils que nous proposons. Nous vous rappelons de

bien vouloir vérifier attentivement lorsque vous passez une commande chez nous si vous étes un professionnel

en fait, vous économisez la moitié par rapport aux grandes marques



Machine Translated by Google

ENSEMBLES DE SALLE A MANGER POUR PATIO

VEVOR®
(FAUTEUIL)

TOUGH TOOLS, HALF PRICE

Modele : WS-8S-001-A ; WS-SS-002-B

Remarque : veuillez patienter car les autres articles sont en route si vous achetez plus d'un produit.

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur nos produits ? Vous avez besoin d'assistance technique ? N'hésitez pas a

nous contacter :
Assistance technique et certificat de garantie

électronique www.vevor.com/support

Il s'agit de la notice d'utilisation d'origine. Veuillez lire attentivement toutes les instructions

du manuel avant de I'utiliser. VEVOR se réserve le droit d'interpréter clairement notre manuel
d'utilisation. L'apparence du produit dépend du produit que vous avez regu. Veuillez nous
excuser, nous ne vous informerons plus en cas de mise a jour technologique ou logicielle de notre

produit.



Machine Translated by Google

PARAMETRES DU PRODUIT

Ch t -
Taille du produit modéle (L x P x H) argemen matériel Couleur
Capacité
ws- y
300 livres , Lumiére
SS-001-A L24,8" x P25,2" x H34,8" Bois- Gris
(Max) Plasti
astique
a propos .
WS-SS- (630x640x885mm) (& prop Composites | -
002.B 150 kg) oir

PRECAUTIONS D'ASSEMBLAGE

1. L'assemblage doit étre effectué conformément aux instructions ci-dessous. Un assemblage incorrect peut
étre dangereux.

2. Portez des lunettes de sécurité et des gants de travail résistants pendant I'assemblage.

3. Ne montez pas lorsque vous étes fatigué ou sous l'influence de I'alcool, de drogues ou de
médicaments.

4. Le poids et les autres propriétés du produit ne s'appliquent qu'aux produits correctement et
complétement assemblés.

5. Gardez la zone de montage propre et bien éclairée.

6. Gardez les spectateurs hors de la zone pendant le montage.

PRECAUTIONS D'EMPLOI

A AVERTISSEMENT : POUR EVITER DES BLESSURES GRAVES ET LA MORT
CONSEIL :

1. Ce produit n'est pas un jouet. Veuillez garder le produit hors de portée des enfants lors de
I'assemblage.

2. N'utilisez le produit que pour l'usage auquel il est destiné. Ne laissez pas les enfants jouer ou sauter sur le
produit. Ne montez pas sur I'article et ne I'utilisez pas comme escabeau.

3. Inspectez I'appareil avant chaque utilisation. Ne I'utilisez pas si des piéces sont desserrées ou endommagées.
4. Serrez les vis inférieures tous les trois mois pour éviter le desserrage des pieds.

5. Ne dépassez pas la capacité de poids indiquée. Serrez fermement tous les boutons avant
d'appliquer la charge. Soyez conscient de la charge dynamique ! La charge soudaine

2



Machine Translated by Google

le mouvement peut brievement créer une charge excessive, provoquant une défaillance du produit.

6. Ces articles toutes saisons peuvent étre stockés a I'extérieur toute I'année. Parfait pour les personnes
qui vivent dans un climat humide ou sur la c6te ou I'numidité et la moisissure seront un probléme toute
I'année. CONSERVEZ CES INSTRUCTIONS



Machine Translated by Google

LISTE DES PIECES

1PCS
B @ 1PCS
C \ 1PCS

1PCS
‘R&\
E W 2PCS
F 1PCS
G \ 1PCS
AA
4%20 Bolt PES
4PCS
BE M6+*50 Bolt
LE M6*60 Bolt N
DD M6*70 Bolt S
M 1PCS
g 1PCS




Machine Translated by Google

ETAPES D'ASSEMBLAGE

ETAPE 1

iicc

|
1o
||
iy

ETAPE 2




ETAPE 3
ETAPE 4




Machine Translated by Google

ACHEVEMENT

Nettoyage et entretien

-Utilisez un chiffon doux et propre qui ne rayera pas la surface lors du dépoussiérage.

- Si vous rencontrez des problemes de rayures, nous vous suggérons d'effacer les rayures avec un
couteau.

-Cet article peut étre nettoyé avec de I'eau et du savon. Assurez-vous d'éviter les solvants
agressifs et les abrasifs.

- Assurez-vous périodiquement (tous les 90 jours) que les vis sont bien serrées.



Machine Translated by Google

Sanven Technologie Ltée.
Adresse : Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie
électronique www.vevor.com/support



Machine Translated by Google

VEVOR'

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support

TERRASSEN-ESSZIMMER-SETS

(QUADRATISCHER TISCH)
BENUTZERHANDBUCH

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.
"Sparen Sie die Hélfte", "Halber Preis" oder andere ahnliche Ausdriicke, die wir verwenden, stellen nur eine Schétzung
der Einsparungen dar, die Sie durch den Kauf bestimmter Werkzeuge bei uns im Vergleich zu den Hauptprodukten erzielen kénnen.
Top-Marken und Dosierungen bedeuten nicht unbedingt, dass sie alle von uns angebotenen Werkzeugkategorien abdecken. Wir
mochten Sie freundlich daran erinnern, bei der Bestellung bei uns sorgféltig zu prifen, ob Sie

tatsachliche Einsparung der Halfte im Vergleich zu den Top-GroBmarken


http://www.vevor.com/support

Machine Translated by Google

% TERRASSEN-ESSZIMMER-SETS
V EV R (QUADRATISCHER TISCH)
\

TOUGH TOOLS, HALF PRICE

Hinweis: Bitte haben Sie Geduld, da die anderen Artikel unterwegs sind, wenn Sie mehr als ein Produkt kaufen.

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Haben Sie Fragen zum Produkt? Bendétigen Sie technischen Support? Bitte kontaktieren Sie uns:

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgféltig durch,

bevor Sie das Gerat in Betrieb nehmen. VEVOR behélt sich eine klare Auslegung unserer
Bedienungsanleitung vor. Das Erscheinungsbild des Produkts richtet sich nach

dem Produkt, das Sie erhalten haben. Bitte verzeihen Sie uns, dass wir Sie nicht erneut
informieren, wenn es Technologie- oder Software-Updates fiir unser Produkt gibt.


http://www.vevor.com/support

Machine Translated by Google

PRODUKTPARAMETER

Laden

ModellproguktgréRe (L x B x H) Material Farbe
Tragkraft:
Y R R 300 lbs
WS- L31,5" x B31,5" x H34,8 (Ma) Holz- Lieht
( t4h Plastik G
y ungefahr rau
ss-oot (800 x 800 x 755 mm) 9 Verbundwerkstoffe
150 kg)

VORSICHTSMASSNAHMEN BEI DER MONTAGE

1. Beim Zusammenbau miissen diese Anweisungen befolgt werden. Ein falscher Zusammenbau kann
geféhrlich sein.

2. Tragen Sie wahrend der Montage eine Schutzbrille und strapazierféahige Arbeitshandschuhe.
3. Nicht montieren, wenn Sie miide sind oder unter dem Einfluss von Alkohol, Drogen oder
Medikamenten stehen.

4. Gewichte und sonstige Produkteigenschaften gelten nur bei ordnungsgeman und vollstandig
montierten Produkten.

5. Halten Sie den Versammlungsbereich sauber und gut beleuchtet.

6. Halten Sie wahrend der Montage unbeteiligte Zuschauer vom Bereich fern.




Machine Translated by Google
VORSICHTSMASSNAHMEN BEIM GEBRAUCH

WARNUNG: UM SCHWERE VERLETZUNGEN UND TOD DURCH UMSTURZEN ZU VERMEIDEN: 1.
Dieses

Produkt ist kein Spielzeug. Bitte halten Sie das Produkt wahrend der Montage von Kindern fern.

2. Nur bestimmungsgemaf verwenden. Kinder nicht mit dem Produkt spielen oder darauf springen lassen.
Nicht auf das Produkt stellen oder es als Trittleiter verwenden.
3. Vor jedem Gebrauch uberprifen. Nicht verwenden, wenn Teile lose oder beschadigt sind.

4. Ziehen Sie die unteren Schrauben alle drei Monate fest, um ein Lésen der Beine zu verhindern.

5. Uberschreiten Sie nicht die angegebene Gewichtskapazitét. Ziehen Sie alle Kndpfe fest an, bevor Sie
eine Last aufbringen. Achten Sie auf dynamische Belastung! Die pl6tzliche Lastbewegung kann kurzzeitig
eine Uberlastung erzeugen und zu einem Produktausfall fihren.

6. Diese Allwetterartikel kénnen das ganze Jahr Uiber im Freien gelagert werden. Perfekt fur Menschen,
die in einem feuchten Klima oder an der Kiiste leben, wo Feuchtigkeit und Nasse das ganze Jahr Gber

ein Problem darstellen

BEWAHREN SIE DIESE ANWEISUNGEN AUF



“TEILELISTE

H P
M6*70 Bolt

i
M6*60 Bolt




le

ANLEITUNG

I\h/ldaNl 1 dbchEJ

Machine Translate

SCHRITT 1

SCHRITT2




Machine Translated by Google

STEPS

STEP4




SCHRITT5

COMPLETION




Machine Translated by Google
Reinigung und Wartung

- Verwenden Sie beim Abstauben ein weiches, sauberes Tuch, das die Oberflache nicht zerkratzt.
- Falls es zu Kratzern kommt, empfehlen wir [hnen, diese mit einem Messer zu entfernen.

-Dieser Artikel kann mit Seife und Wasser gereinigt werden. Vermeiden Sie unbedingt scharfe
Loésungs- und Scheuermittel.

- Stellen Sie regelmaRig (alle 90 Tage) sicher, dass die Schrauben vollstandig festgezogen sind.

Sanven Technology Ltd.
Adresse: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Technischer Support und E-Garantie-Zertifikat
WWW.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantie-Zertifikat www.vevor.com/support

TERRASSEN-ESSZIMMERS
(SESSEL)
BENUTZERHANDBUCH

Wir sind weiterhin bestrebt, lhnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.
"Sparen Sie die Halfte", "Halber Preis" oder andere ahnliche Ausdriicke, die wir verwenden, stellen nur eine Schatzung der Ersparnis dar, die Sie beim
Kauf bestimmter Werkzeuge bei uns im Vergleich zu den groen Top-Marken erzielen kénnen, und decken nicht unbedingt alle von uns angebotenen

Werkzeugkategorien ab. Wir méchten Sie freundlich daran erinnern, bei der Bestellung bei uns sorgfaltig zu prifen, ob Sie

tatséchliche Einsparung der Halfte im Vergleich zu den Top-GroRBmarken



Machine Translated by Google

TERRASSEN-ESSZIMMER-SETS

®
VEVOR

TOUGH TOOLS, HALF PRICE

Modell: WS-SS-001-A;WS-SS-002-B

Hinweis: Bitte haben Sie Geduld, dass die anderen Artikel unterwegs sind, wenn Sie mehr als ein Produkt kaufen.

Brauchen Sie Hilfe? Kontaktieren Sie uns!

Sie haben Fragen zu unseren Produkten? Sie bendtigen technischen Support? Dann kontaktieren

Sie uns gerne:
Technischer Support und E-Garantie-Zertifikat

WWw.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Anweisungen sorgféltig durch, bevor Sie das Gerat in
Betrieb nehmen. VEVOR behalt sich eine klare Auslegung unserer Bedienungsanleitung vor. Das Erscheinungsbild
des Produkts richtet sich nach dem Produkt, das Sie erhalten haben. Bitte verzeihen Sie uns, dass wir Sie

nicht erneut informieren, wenn es Technologie- oder Software-Updates fir unser Produkt gibt.



Machine Translated by Google

PRODUKTPARAMETER

Laden :
ModellprogluktgroRe (B x T x Hy o Material Farbe
Kapazitat
WS- .
300 Pfund Licht
SS-001-A B24,8" x T25,2" x H34,8" M Holz- Grau
(Max) Plastik
WS-SS- (ungefahr
(630 x 640 x 885 mm) 150 kg) Verbundwerkstoffe Schwarz
002-B

VORSICHTSMASSNAHMEN BEI DER MONTAGE

1. Beim Zusammenbau mussen diese Anweisungen befolgt werden. Ein falscher Zusammenbau kann
gefahrlich sein.

2. Tragen Sie wahrend der Montage eine Schutzbrille und strapazierfahige Arbeitshandschuhe.

3. Nicht montieren, wenn Sie mide sind oder unter dem Einfluss von Alkohol, Drogen oder Medikamenten
stehen.

4. Gewichte und sonstige Produkteigenschaften gelten nur bei ordnungsgemaf und vollstdéndig montierten
Produkten.

5. Halten Sie den Versammlungsbereich sauber und gut beleuchtet.

6. Halten Sie wahrend der Montage unbeteiligte Zuschauer vom Bereich fern.

VORSICHTSMASSNAHMEN BEIM GEBRAUCH

A WARNUNG: UM SCHWERE VERLETZUNGEN UND TOD DURCH

TIPPS: 1.

Dieses Produkt ist kein Spielzeug. Bitte halten Sie das Produkt wahrend der Montage von
Kindern fern.

2. Nur bestimmungsgemaf verwenden. Kinder nicht mit dem Produkt spielen oder darauf springen lassen.
Nicht auf das Produkt stellen oder es als Trittleiter verwenden.

3. Vor jedem Gebrauch uberprifen. Nicht verwenden, wenn Teile lose oder beschadigt sind.

4. Ziehen Sie die unteren Schrauben alle drei Monate fest, um ein Ldsen der Beine zu verhindern.

5. Uberschreiten Sie nicht die angegebene Gewichtskapazitit. Ziehen Sie alle Knopfe fest an, bevor Sie
eine Last aufbringen. Achten Sie auf dynamische Belastung! Die plétzliche Belastung

2



Machine Translated by Google

Durch Bewegung kann es kurzzeitig zu einer Uberlastung und damit zu einem Produktausfall kommen.

6. Diese Allwetterartikel kénnen das ganze Jahr uber im Freien gelagert werden. Perfekt fur Menschen, die in
einem feuchten Klima oder an der Kiiste leben, wo Feuchtigkeit und Néasse das ganze Jahr (ber ein Problem
darstellen. BEWAHREN SIE DIESE ANLEITUNG

AUF



Machine Translated by Google

TEILELISTE

D 1PCS
‘R&\
A 1PCS :
E 2PCS
J
F 1PCS
B 1PCS
G 1PCS
AA 4P
: 4%20 Bolt e
1PCS
4PCS
BE M6+*50 Bolt
6PCS
LE M6*60 Bolt
DD M6*70 Bolt S
M 1PCS
g 1PCS




Machine Translated by Google

MONTAGEANLEITUNG

SCHRITT 1

I

SCHRITT2




SCHRITT3
SCHRITT4




Machine Translated by Google

FERTIGSTELLUNG

Reinigung und Wartung

- Verwenden Sie beim Abstauben ein weiches, sauberes Tuch, das die Oberflache nicht zerkratzt.
- Wenn Sie Probleme mit Kratzern haben, empfehlen wir Ihnen, diese mit einem Messer zu entfernen.

- Dieser Artikel kann mit Wasser und Seife gereinigt werden. Vermeiden Sie unbedingt scharfe
Ldsungs- und Scheuermittel.

- Stellen Sie regelmaRig (alle 90 Tage) sicher, dass die Schrauben vollstandig festgezogen sind.



Machine Translated by Google

Sanven Technology Ltd.
Adresse: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Technischer Support und E-Garantie-Zertifikat
WWW.vevor.com/support



Machine Translated by Google

VEVOR'

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

SET DA PRANZO PER PATIO

(TAVOLA QUADRATA)
MANUALE D'USO

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.
"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta solo
una stima del risparmio che potresti ottenere acquistando determinati strumenti con noi rispetto alla maggior parte
i marchi e le dosi migliori non significano necessariamente coprire tutte le categorie di strumenti da noi offerti. Ti
ricordiamo cortesemente di verificare attentamente quando effettui un ordine con noi se sei

risparmiando effettivamente la meta rispetto al marchio piu importante


http://www.vevor.com/support

Machine Translated by Google

% SET DA PRANZO PER PATIO
VEVOR® oo
\

TOUGH TOOLS, HALF PRICE

Nota: se acquisti piu di un prodotto, ti preghiamo di pazientare finché gli altri articoli non saranno in arrivo.

HAI BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitare a contattarci:

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/
support

Questa ¢ l'istruzione originale, si prega di leggere attentamente tutte le
istruzioni del manuale prima di utilizzare. VEVOR si riserva una chiara
interpretazione del nostro manuale utente. L'aspetto del prodotto sara

soggetto al prodotto ricevuto. Vi preghiamo di perdonarci se non vi informeremo
di nuovo se ci sono aggiornamenti tecnologici o software sul nostro prodotto.


http://www.vevor.com/support

Machine Translated by Google

PARAMETRI DEL PRODOTTO

Caricamento

(150 kg)

Modello Djmensioni del prodotto (LxXWxH) o materiale Colore
Capacita
300 libbre
L31,5" x L31,5" x A34,8" Legna-
Plastica Leggero
wsssoo (Massimo) (circa - Grigio
Dimensioni (800x800x755mm) Compositi

PRECAUZIONI PER IL MONTAGGIO

1. Il montaggio deve seguire queste istruzioni. Un montaggio non corretto puo essere pericoloso.

2. Durante il montaggio, indossare occhiali protettivi e guanti da lavoro resistenti.
3. Non riunirsi quando si & stanchi o sotto I'effetto di alcol, droghe o farmaci.

4. |l peso e le altre proprieta del prodotto sono applicabili solo ai prodotti assemblati correttamente e
completamente.

5. Mantenere l'area di assemblaggio pulita e ben illuminata.

6. Tenere gli astanti fuori dall'area durante I'assemblea.




“"BRECAUZIONI D'USO

AVVERTENZA: PER EVITARE LESIONI GRAVI E MORTALI DOVUTE AL RIBALTAMENTO:
1. Questo

prodotto non € un giocattolo. Tenere il prodotto lontano dalla portata dei bambini durante il
montaggio.

2. Utilizzare solo come previsto. Non lasciare che i bambini giochino o saltino sul prodotto. Non
salire sull'articolo o utilizzarlo come una scala a pioli.

3. Ispezionare prima di ogni utilizzo. Non utilizzarlo se le parti sono allentate o danneggiate.

4. Serrare le viti inferiori ogni tre mesi per evitare che le gambe si allentino.

5. Non superare la capacita di peso indicata. Serrare saldamente tutte le manopole prima di
applicare il carico. Fare attenzione al carico dinamico! Il movimento improvviso del carico pud
creare brevemente un carico eccessivo, causando il guasto del prodotto.

6. Questi articoli per tutte le stagioni possono essere conservati all'aperto tutto I'anno. Perfetti
per le persone che vivono in un clima umido o sulla costa, dove I'umidita e I'umidita saranno un
problema tutto I'anno.

SALVA QUESTE ISTRUZIONI



Machine Translated by Google
ELENCO DELLE PARTI

2PCS
A 1PCS
F \ 2PCs
o
AsA | —00000000000000 Aty
B 2PCS M6*95 Negozio
BB { om0 16PCS
M6*70 Bolt
<O
cE m 4PCS
. ii 2pPCS M6*60 Bolt
DD 5- 4PCS
? / 2PCS (




NTAGGIO

Google
M

y

ranslated b

FAS

Machine

PASSO 1

PASSO 2




Machine Translated by Google

STEPS

STEP4




chine Translated by
PASSO5

COMPLETION




‘Pulizia'e manutenzione

-Quando si spolvera, utilizzare un panno morbido e pulito che non graffi la superficie.
-Se si verificano problemi di graffi, si consiglia di cancellarli con un coltello.

-Questo articolo pud essere pulito con acqua e sapone.-assicurarsi di evitare solventi
aggressivi e abrasivi.

-Assicurarsi periodicamente (ogni 90 giorni) che le viti siano ben serrate.

Azienda
Indirizzo: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

SET DA PRANZO PER PATIOS
(POLTRONA)
MANUALE D'USO

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.
"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta solo una stima del risparmio che potresti ottenere
acquistando determinati utensili con noi rispetto ai principali marchi di punta e non significa necessariamente coprire tutte le categorie di utensili da noi offerti. Ti

ricordiamo gentiimente di verificare attentamente quando effettui un ordine con noi se sei

risparmiando effettivamente la meta rispetto al marchio piti importante



Machine Translated by Google

® SET DA PRANZO PER PATIO
VEVOR' =
TOUGH TOOLS, HALF PRICE

Modello: WS-SS-001-A;WS-SS-002-B

Nota: se acquisti pit di un prodotto, ti preghiamo di pazientare finché gli altri articoli non saranno in arrivo

HAI BISOGNO DI AIUTO? CONTATTACI!
Hai domande sui prodotti? Hai bisogno di supporto tecnico? Non esitare a contattarci:

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Questa e l'istruzione originale, si prega di leggere attentamente tutte le istruzioni del manuale

prima di utilizzare. VEVOR si riserva una chiara interpretazione del nostro manuale utente. L'aspetto del
prodotto sara soggetto al prodotto ricevuto. Vi preghiamo di perdonarci se non vi informeremo di

nuovo se ci sono aggiornamenti tecnologici o software sul nostro prodotto.



Machine Translated by Google

PARAMETRI DEL PRODOTTO

Caricamento .
Modello Djmensioni del prodotto (LxPxA) . materiale Colore
Capacita
WS-
300 libbre Leggero
SS-001-A L24,8" xP25,2" xA34,8" Legna- Grigio
Plastica
Massimo) (cirfa .
WS-SS- Dimensioni (630x640x885mm) ( ) ( Compositi Ner.
002-B (150 kg) ero

PRECAUZIONI PER IL MONTAGGIO

1. Il montaggio deve seguire queste istruzioni. Un montaggio non corretto puo essere pericoloso.

2. Durante il montaggio, indossare occhiali protettivi e guanti da lavoro resistenti.
3. Non riunirsi quando si € stanchi o sotto I'effetto di alcol, droghe o farmaci.

4. 1l peso e le altre proprieta del prodotto sono applicabili solo ai prodotti assemblati correttamente e
completamente.

5. Mantenere I'area di assemblaggio pulita e ben illuminata.

6. Tenere gli astanti fuori dall'area durante I'assemblea.

PRECAUZIONI D'USO

A ATTENZIONE: PER PREVENIRE LESIONI GRAVI E MORTE DA

SUGGERIMENTO: 1. Questo prodotto non € un giocattolo. Tenere il prodotto lontano dalla
portata dei bambini durante il montaggio.

2. Utilizzare solo come previsto. Non lasciare che i bambini giochino o saltino sul prodotto. Non salire
sull'articolo o utilizzarlo come una scala a pioli.

3. Ispezionare prima di ogni utilizzo. Non utilizzarlo se le parti sono allentate o danneggiate.

4. Serrare le viti inferiori ogni tre mesi per evitare che le gambe si allentino.

5. Non superare la capacita di peso indicata. Stringere saldamente tutte le manopole prima di applicare
il carico. Fare attenzione al carico dinamico! Il carico improvviso

2



Machine Translated by Google

il movimento puo creare brevemente un carico eccessivo, causando il guasto del prodotto.

6. Questi articoli adatti a tutte le stagioni possono essere conservati all'aperto tutto I'anno. Perfetti
per le persone che vivono in un clima umido o sulla costa, dove I'umidita sara un problema tutto
I'anno. CONSERVA QUESTE ISTRUZIONI



Machine Translated by Google

ELENCO DELLE PARTI

D 1PCS
‘R&\
A 1PCS :
E 2PCS
J
F 1PCS
B 1PCS
G 1PCS
AA 4P
: 4%20 Bolt e
1PCS
4PCS
BE M6+*50 Bolt
6PCS
LE M6*60 Bolt
DD M6*70 Bolt S
M 1PCS
g 1PCS




Machine Translated by Google

FASI DI MONTAGGIO

PASSO 1

iicc

PASSO 2




PASSO 3
PASSO4




Machine Translated by Google

COMPLETAMENTO

Pulizia e manutenzione

-Quando si spolvera, utilizzare un panno morbido e pulito che non graffi la superficie.
- Se si verificano problemi di graffi, si consiglia di cancellarli con un coltello.

-Questo articolo puo essere pulito con acqua e sapone. Assicurarsi di evitare solventi
aggressivi e abrasivi.

- Controllare periodicamente (ogni 90 giorni) che le viti siano ben serrate.



Machine Translated by Google

Azienda
Indirizzo: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support



Machine Translated by Google

VEVOR'

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica www.vevor.com/support

JUEGOS DE COMEDOR PARA PATIO

(MESA CUADRADA)
MANUAL DEL USUARIO

Seguimos comprometidos a brindarle herramientas a precios competitivos.
"Ahorre la mitad", "mitad de precio" o cualquier otra expresién similar utilizada por nosotros solo representa una
estimacion de los ahorros que podria obtener al comprar ciertas herramientas con nosotros en comparacion con las principales
Las mejores marcas y dosis no necesariamente cubren todas las categorias de herramientas que ofrecemos. Le recordamos
que verifique cuidadosamente al realizar un pedido con nosotros si esta

En realidad, ahorra la mitad en comparacién con las principales marcas.


http://www.vevor.com/support

Machine Translated by Google

% JUEGOS DE COMEDOR PARA PATIO
\

TOUGH TOOLS, HALF PRICE

Nota: Tenga paciencia porque los demas articulos estan en camino si compra mas de un producto.

¢(NECESITA AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ¢ Necesita asistencia técnica? No dude en ponerse

en contacto con nosotros: Asistencia técnica y certificado de garantia

electrénica www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las

instrucciones del manual antes de utilizar el producto. VEVOR se reserva una
interpretacion clara de nuestro manual de usuario. La apariencia del

producto estara sujeta al producto que recibié. Perdonenos por no informarle
nuevamente si hay actualizaciones de tecnologia o software en nuestro producto.


http://www.vevor.com/support

Machine Translated by Google

PARAMETROS DEL PRODUCTO

(800 x 800 x 755 mm)

150 kg)

Cargando !
Tamafio del modelo del producto (LxAnxAl) ) material Color
Capacidad
300 libras
WS- 31,5" de largo x 31,5" de ancho x 34,8" de alto Madera-
(Méx.) Plastico Luz
SS-001 (aproximadamente) Compuestos Gris

PRECAUCIONES DE MONTAJE

1. Para el montaje, siga estas instrucciones. Un montaje incorrecto puede suponer un riesgo.

2. Use gafas de seguridad y guantes de trabajo resistentes durante el montaje.
3. No se reuina cuando esté cansado o bajo la influencia del alcohol, drogas o medicamentos.

4. El peso y otras propiedades del producto solo se aplican a productos ensamblados correcta y
completamente.

5. Mantenga el area de reunion limpia y bien iluminada.

6. Mantenga a los transeuntes fuera del area durante el montaje.




Machine Translated by Gool

ECAUGTONES DE USO

ADVERTENCIA: PARA EVITAR LESIONES GRAVES O LA MUERTE POR VUELCO: 1. Este
producto no

es un juguete. Mantenga el producto fuera del alcance de los nifios durante el ensamblaje.

2. Utilicelo unicamente para el fin previsto. No permita que los nifios jueguen ni salten sobre el
producto. No se pare sobre el articulo ni lo utilice como escalera.
3. Inspeccione el producto antes de cada uso. No lo utilice si hay piezas sueltas o dafadas.

4. Apriete los tornillos inferiores cada tres meses para evitar que se aflojen las patas.

5. No exceda la capacidad de peso indicada. Apriete bien todas las perillas antes de aplicar la carga.
iTenga cuidado con la carga dinamica! El movimiento repentino de la carga puede crear brevemente
un exceso de carga, lo que provocara una falla del producto.

6. Estos articulos para todo clima se pueden almacenar al aire libre durante todo el afio. Son
perfectos para personas que viven en un clima humedo o en la costa, donde la humedad sera un
problema durante todo el afio.

GUARDE ESTAS INSTRUCCIONES



Machine Translated by Google
LISTA DE PIEZAS

2PCS
A 1PCS
\ 2PCS
g
B ii 2PCS Tienda M6*95
BB { om0 6PCS
M6*70 Bolt
<>
cc Mh 4PCS
c
ii s M6*60 Bolt
DD 5_ 4PCS
? / 2PCS /




PASOS DE MONTAJE

Machine Translate

PASO 1

PASO 2




Machine Translated by Google

STEPS

STEP4




Machine Translated by Google
PASO 5

COMPLETION




Machine Translajed by Google . .
Limpieza y mantenimiento

-Utilice un pafio suave y limpio que no raye la superficie al quitar el polvo.
-Si tiene problemas de rayones, le sugerimos que los borre con un cuchillo.

-Este articulo se puede limpiar con agua y jabon. Asegurese de evitar disolventes fuertes
y abrasivos.

-Periédicamente (cada 90 dias) asegurese de que los tornillos estén completamente apretados.

Tecnologia Sanven Ltd.
Direccion: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica www.vevor.com/support

JUEGO DE COMEDOR PARA PATIOS
(SILLON)
MANUAL DEL USUARIO

Seguimos comprometidos a brindarle herramientas a precios competitivos.
"Ahorre la mitad", "mitad de precio" o cualquier otra expresidn similar que utilicemos solo representa una estimacion de los ahorros que podria
obtener al comprar ciertas herramientas con nosotros en comparacion con las principales marcas y no necesariamente significa que cubra todas las categorias
de herramientas que ofrecemos. Le recordamos que verifique cuidadosamente cuando realice un pedido con nosotros si estd comprando herramientas de la
misma marca.

En realidad, ahorra la mitad en comparacién con las principales marcas.



Machine Translated by Google

JUEGOS DE COMEDOR PARA PATIO

VEVOR' =

TOUGH TOOLS, HALF PRICE

Modelo: WS-SS-001-A;WS-SS-002-B

Nota: Tenga paciencia porque los demas articulos estdn en camino si compra mas de un producto.

¢NECESITA AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? s Necesita asistencia técnica? No dude en ponerse en contacto

€on nosotros:
Soporte técnico y certificado de garantia

electronica www.vevor.com/support

Estas son las instrucciones originales, lea atentamente todas las instrucciones del manual
antes de utilizar el producto. VEVOR se reserva una interpretacion clara de nuestro manual de
usuario. La apariencia del producto estara sujeta al producto que recibié. Perdonenos por
no informarle nuevamente si hay actualizaciones de tecnologia o software en nuestro producto.



Machine Translated by Google

PARAMETROS DEL PRODUCTO

Cargando :
Tamafio dJI modelo del producto (An. x Pr. x Al.) J . material Color
Capacidad
WS-
300 libras Luz
$S-001-A 24,8" de ancho x 25,2" de profundidad x 34,8" de alto e Madera- Gris
e Plastico
WS-SS- (aproximadamente)
630 x 640 x 885 mm Compuestos
0028 ( ) 150 kg) Negro

PRECAUCIONES DE MONTAJE

1. Para el montaje, siga estas instrucciones. Un montaje incorrecto puede suponer un riesgo.

2. Use gafas de seguridad y guantes de trabajo resistentes durante el montaje.
3. No se retina cuando esté cansado o bajo la influencia del alcohol, drogas o medicamentos.

4. El peso y otras propiedades del producto solo se aplican a productos ensamblados correcta y
completamente.

5. Mantenga el area de reunién limpia y bien iluminada.

6. Mantenga a los transeuntes fuera del area durante el montaje.

PRECAUCIONES DE USO

A ADVERTENCIA: PARA EVITAR LESIONES GRAVES Y LA MUERTE POR

SUGERENCIA: 1. Este producto no es un juguete. Mantenga el producto fuera del alcance
de los nifios durante el ensamblaje.

2. Utilicelo unicamente para el fin previsto. No permita que los nifios jueguen ni salten sobre el
producto. No se pare sobre el articulo ni lo utilice como escalera.

3. Inspeccione el producto antes de cada uso. No lo utilice si hay piezas sueltas o dafiadas.

4. Apriete los tornillos inferiores cada tres meses para evitar que se aflojen las patas.

5. No exceda la capacidad de peso indicada. Apriete bien todas las perillas antes de aplicar la carga.
iTenga cuidado con la carga dinamica! La carga repentina

2



Machine Translated by Google

El movimiento puede crear brevemente un exceso de carga, provocando fallas en el producto.

6. Estos articulos para todo clima se pueden almacenar al aire libre durante todo el afio. Perfectos
para personas que viven en un clima hiumedo o en la costa donde la humedad sera un problema
durante todo el afio. GUARDE ESTAS

INSTRUCCIONES



Machine Translated by Google

LISTA DE PIEZAS

A 1PCS
B @ 1PCS
C \ 1PCS

1PCS
‘gh\
E 2PCS
J
F 1PCS
G 1PCS
AA
4%20 Bolt PES
4PCS
BE M6+*50 Bolt
6PCS
LE M6*60 Bolt
DD M6*70 Bolt S
M 1PCS
g 1PCS




Machine Translated by Google

PASOS DE MONTAJE

PASO 1 flc

PASO 2




PASO 4




Machine Translated by Google

TERMINACION

Limpieza y mantenimiento

-Utilice un pafio suave y limpio que no raye la superficie al quitar el polvo.
- Si tiene problemas de rayones, le sugerimos que los borre con un cuchillo.

-Este articulo se puede limpiar con agua y jabon. Asegurese de evitar disolventes fuertes
y abrasivos.

- Periédicamente (cada 90 dias) asegurese de que los tornillos estén completamente apretados.



Machine Translated by Google

Tecnologia Sanven Ltd.
Direccién: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electronica www.vevor.com/support



Machine Translated by Google

VEVOR'

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej www.vevor.com/support

ZESTAWY JADALNE NA PATIO

(STOL KWADRATOWY)
INSTRUKCJA OBStUGI

Nadal staramy sie oferowac Parstwu narzedzia w konkurencyjnych cenach.
.Oszczedz potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez nas stanowig jedynie szacunkowg
kwote oszczednosci, jakq mozesz uzyskac¢ kupujac u nas okreslone narzedzia w poréwnaniu z innymi duzymi sklepami.
najlepsze marki i dawki niekoniecznie oznaczajg, ze obejmujg wszystkie kategorie narzedzi oferowanych przez nas.
Uprzejmie przypominamy, aby doktadnie sprawdzi¢, kiedy sktadasz u nas zaméwienie, jesli jestes

faktycznie oszczedzajac potowe w poréwnaniu z najlepszg marka


http://www.vevor.com/support

Machine Translated by Google

% ZESTAWY JADALNE NA PATIO
\

TOUGH TOOLS, HALF PRICE

Uwaga: Jesli kupisz wiecej niz jeden produkt, zachowaj cierpliwos¢, poniewaz pozostate produkty zostang wkrétce wystane.

POTRZEBUJESZ POMOCY? SKONTAKTUJ SIE Z NAMI!

Masz pytania dotyczace produktu? Potrzebujesz wsparcia technicznego? Skontaktuj

sie z nami: Wsparcie techniczne i certyfikat E-Gwarancji www.vevor.com/
support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczytac

wszystkie instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukgji
obstugi. Wyglad produktu bedzie zalezat od produktu, ktéry otrzymates.

Prosimy o wybaczenie, ze nie poinformujemy Cie ponownie, jesli w naszym
produkcie pojawig sie jakiekolwiek aktualizacje technologiczne lub oprogramowania.


http://www.vevor.com/support

Machine Translated by Google

PARAMETRY PRODUKTU

Zatadunek
Rozmiar mpdelu produktu (dt. x szer. x wys.) ) N tworzywo Kolor
Pojemnos¢
300 funtéw
WS Dt. 31,5" x szer. 31,5" x wys. 34,8" Drewno- i
(Maks.) Plastikowy Swiatto
SS-001 (okoto Szar
(800x800x755mm) Kompozyty y
(150 kg)

SRODKI OSTROZNOSCI PODCZAS MONTAZU

1. Montaz musi by¢ zgodny z ponizszymi instrukcjami. Nieprawidtowy montaz moze by¢
niebezpieczny.

2. Podczas montazu nalezy nosi¢ okulary ochronne i solidne rekawice robocze.

3. Nie przychodz na spotkania, jesli jestes zmeczony lub pod wptywem alkoholu, narkotykéw lub lekéw.

4. Waga i inne wiasciwosci produktu odnoszg sie wytgcznie do produktéw prawidtowo i kompletnie
zmontowanych.
5. Utrzymuj miejsce zgromadzenia w czystosci i zapewnij dobre oswietlenie.

6. Podczas montazu nie dopuszczaj oséb postronnych na teren montazu.



"SREBKE OETROZNOSCT

OSTRZEZENIE: ABY ZAPOBIEC POWAZNYM OBRAZENIOM LUB SMIERCI SPOWODOWANE) PRZEWROCENIEM: 1.
Ten produkt

nie jest zabawka. Podczas montazu trzymaj produkt poza zasiegiem dzieci.

2. Uzywaj wytacznie zgodnie z przeznaczeniem. Nie pozwdl dzieciom bawi¢ sie produktem ani skaka¢
po nim. Nie stawaj na produkcie ani nie uzywaj go jako drabiny.
3. Przed kazdym uzyciem sprawdz. Nie uzywaj, jesli czesci sg luzne lub uszkodzone.

4. Dokrecaj dolne $ruby co trzy miesigce, aby zapobiec poluzowaniu sie nég.

5. Nie przekraczaj podanego udzwigu. Przed zastosowaniem obcigzenia dokre¢ mocno wszystkie
pokretta. Uwazaj na obcigzenie dynamiczne! Nagly ruch obcigzenia moze na krétko spowodowac
nadmierne obcigzenie, powodujac awarie produktu.

6. Te odporne na warunki atmosferyczne przedmioty mozna przechowywac na zewnatrz przez caty rok.
Idealne dla os6b mieszkajgcych w wilgotnym klimacie lub na wybrzezu, gdzie wilgo¢ i wilgo¢ stanowig
problem przez caty rok.

ZAPISZ TE INSTRUKCJE



Machine Translated by Google
LISTA CZESCI

2PCS
A 1PCS
\ 2PCS
o
AA m:DIIIIIIIIIIIHIIIIIIIIIIIIIDD 44444
B 2PCS Sklep M6*95
BB { om0 6PCS
M6*70 Bolt
<O
a m"""{h 4PCS
c
ii o M6*60 Bolt
DD 5- 4PCS
7 / 2PCS (




slated by Google

KROKI MONTAZU

Tran

Machine

KROK 1

KROK 2




Machine Translated by Google

STEPS

STEP4




Machine Translated by Google
KROK 5

COMPLETION




Machine Translated by Google

Czyszczenie i konserwacja
- Do $cierania kurzu uzywaj miekkiej, czystej Sciereczki, ktéra nie porysuje powierzchni.
- Jesli masz problem z zarysowaniami, sugerujemy usuniecie ich nozem.

-Ten przedmiot mozna czysci¢ mydtem i woda. pamietaj o unikaniu agresywnych
rozpuszczalnikéw i materiatéw sciernych.

-Okresowo (co 90 dni) nalezy sprawdza¢, czy Sruby sg catkowicie dokrecone.

Sanven Technology Ltd.
Adres: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji elektronicznej www.vevor.com/support

ZESTAW JADALNY NA PATIOS
(FOTEL)
INSTRUKCJA OBStUGI

Nadal staramy sie oferowa¢ Panstwu narzedzia w konkurencyjnych cenach.
,0szczedz potowe”, ,Potowa ceny” lub inne podobne wyrazenia uzywane przez nas stanowia jedynie szacunkowe oszczednosci, jakie mozesz uzyskac,
kupujac u nas okreslone narzedzia w poréwnaniu z gltéwnymi markami i niekoniecznie oznaczajg one objecie wszystkich kategorii oferowanych przez nas narzedzi.

Uprzejmie przypominamy, aby doktadnie sprawdzi¢, czy sktadajac u nas zaméwienie, jeste$ e

faktycznie oszczedzajac potowe w poréwnaniu z najlepszg marka



Machine Translated by Google

ZESTAWY JADALNE NA PATIO

VEVOR'

TOUGH TOOLS, HALF PRICE

Modele: WS-55-001-AWS-55-002-B

Uwaga: Jedli kupisz wiecej niz jeden produkt, zachowaj cierpliwo$¢, poniewaz pozostate przedmioty zostang wkrétce wystane.

POTRZEBUJESZ POMOCY? SKONTAKTUJ SIE Z NAMI!

Masz pytania dotyczace produktu? Potrzebujesz wsparcia technicznego? Skontaktuj sie z
nami:
Wsparcie techniczne i certyfikat gwarancji

elektronicznej www.vevor.com/support

To jest oryginalna instrukcja, przed uzyciem nalezy uwaznie przeczyta¢ wszystkie

instrukcje. VEVOR zastrzega sobie jasng interpretacje naszej instrukcji obstugi. Wyglad
produktu bedzie zalezat od produktu, ktéry otrzymates. Prosimy o wybaczenie, ze nie
poinformujemy Cie ponownie, jesli w naszym produkcie pojawig sie jakiekolwiek aktualizacje
technologiczne lub oprogramowania.



Machine Translated by Google

PARAMETRY PRODUKTU

Zatadunek
Rozmiar miodelu produktu (szer. x gt. X wys.) B tworzywo Kolor
Pojemnos¢
WS- »
300 funtéw 5 Swiatto
SS-001-A $zerokos$¢ 24,8" x25,2" x wysoko$¢ 34,8" rewno- Szary
(Maks.) Plastikowy
> (okoto
WSS5 (630x640x885mm) Kompozyty c
(150 kg) zarny
002-B

SRODKI OSTROZNOSCI PODCZAS MONTAZU

1. Montaz musi by¢ zgodny z ponizszymi instrukcjami. Nieprawidtowy montaz moze by¢
niebezpieczny.

2. Podczas montazu nalezy nosi¢ okulary ochronne i solidne rekawice robocze.

3. Nie przychodz na spotkania, jedli jestes zmeczony lub pod wptywem alkoholu, narkotykéw lub lekéw.

4. Waga i inne wtasciwosci produktu odnoszg sie wytgcznie do produktéw prawidtowo i kompletnie
zmontowanych.
5. Utrzymuj miejsce zgromadzenia w czystosci i zapewnij dobre oswietlenie.

6. Podczas montazu nie dopuszczaj 0séb postronnych na teren montazu.

SRODKI OSTROZNOSCI

A OSTRZEZENIE: ABY UNIKNAC POWAZNYCH OBRAZEN I SMIERCI
WSKAZOWKI:

1. Ten produkt nie jest zabawka. Podczas montazu trzymaj produkt w miejscu niedostepnym dla dzieci.

2. Uzywaj wytgcznie zgodnie z przeznaczeniem. Nie pozwdl dzieciom bawic sie produktem ani skaka¢ po nim.
Nie stawaj na produkcie ani nie uzywaj go jako drabiny.
3. Przed kazdym uzyciem sprawdz. Nie uzywaj, jesli czesci sg luzne lub uszkodzone.

4. Dokrecaj dolne $ruby co trzy miesigce, aby zapobiec poluzowaniu sie nég.

5. Nie przekraczaj podanego udzwigu. Przed zastosowaniem obcigzenia dokre¢ mocno wszystkie pokretta.

Uwazaj na obcigzenie dynamiczne! Nagte obcigzenie



Machine Translated by Google

ruch moze chwilowo spowodowac¢ nadmierne obcigzenie, powodujgc uszkodzenie produktu.
6. Te odporne na warunki atmosferyczne przedmioty mozna przechowywac na zewnatrz przez caty
rok. Idealne dla oséb mieszkajgcych w wilgotnym klimacie lub na wybrzezu, gdzie wilgo¢ i wilgo¢

stanowig problem przez caty rok. ZACHOWA)]

TE INSTRUKCJE



Machine Translated by Google

LISTA CZESCI

A 1PCS
B @ 1PCS
C \ 1PCS

1PCS
‘gh\
E 2PCS
J
F 1PCS
G 1PCS
AA
4%20 Bolt PES
4PCS
BE M6+*50 Bolt
6PCS
LE M6*60 Bolt
DD M6*70 Bolt S
M 1PCS
g 1PCS




Machine Translated by Google

KROKI MONTAZU

KROK 1 flc

KROK 2




KROK 4




Machine Translated by Google

UKONCZENIE

Czyszczenie i konserwacja
- Do Scierania kurzu uzywaj miekkiej, czystej Sciereczki, ktéra nie porysuje powierzchni.
- Jedli masz problem z zarysowaniami, sugerujemy usuniecie ich nozem.

- Przedmiot ten mozna czysci¢ wodg z mydtem. Nalezy unikac silnych rozpuszczalnikéw i
materiatéw Sciernych.

- Okresowo (co 90 dni) nalezy sprawdza¢, czy $ruby sg catkowicie dokrecone.



Machine Translated by Google

Sanven Technology Ltd.
Adres: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat gwarancji
elektronicznej www.vevor.com/support



Machine Translated by Google

VEVOR'

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

PATIO EETKAMERSETS

(VIERKANTE TAFEL)

GEBRUIKERSHANDLEIDING

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.
"Bespaar de helft", "halve prijs" of andere soortgelijke uitdrukkingen die wij gebruiken, geven slechts een schatting
weer van de besparingen die u kunt behalen door bepaalde gereedschappen bij ons te kopen in vergelijking met de belangrijkste
topmerken en doseringen betekenen niet per se dat alle categorieén van door ons aangeboden tools worden gedekt. Wij
herinneren u eraan om zorgvuldig te controleren of u een bestelling bij ons plaatst als u

feitelijk de helft besparen in vergelijking met de topmerken


http://www.vevor.com/support

Machine Translated by Google

% PATIO EETKAMERSETS
VEVOR® oo
\

TOUGH TOOLS, HALF PRICE

Let op: als u meer dan één product koopt, wees dan geduldig. De andere artikelen zijn onderweg.

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan
gerust contact met ons op: Technische ondersteuning en E-
garantiecertificaat www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door

voordat u het product gebruikt. VEVOR behoudt zich een duidelijke interpretatie

van onze gebruikershandleiding voor. Het uiterlijk van het product is

afhankelijk van het product dat u hebt ontvangen. Vergeef ons dat we u niet

opnieuw zullen informeren als er technologie- of software-updates voor ons product zijn.


http://www.vevor.com/support

Machine Translated by Go

RODUETPARAMETERS

Laden

Model Pfoductgrootte (LxBxH) o materiaal Kleur
Capaciteit
300 Ib
L31,5" xB31,5" xH34,8" S Hout- ]
e (Max) Plastic L'(?.ht
SS-001 (800x800x755mm) (ongeveer Composieten Grijs
150KG)

MONTAGEVOORZORGSMAATREGELEN

1. Assembleer volgens deze instructies. Onjuiste montage kan gevaarlijk zijn.

2. Draag tijdens de montage een veiligheidsbril en stevige werkhandschoenen.
3. Kom niet bijeen als u moe bent of onder invloed van alcohol, drugs of medicijnen.

4. Gewicht en overige producteigenschappen gelden alleen voor correct en volledig
gemonteerde producten.
5. Zorg ervoor dat de verzamelplaats schoon en goed verlicht is.
6. Houd omstanders uit de buurt tijdens de montage.




Machine Translated by Google

GEBRUIK VOORZORGSMAATREGELEN

WAARSCHUWING: OM ERNSTIG LETSEL EN DE DOOD DOOR KANTELEN TE VOORKOMEN:
1. Dit

product is geen speelgoed. Houd het product buiten bereik van kinderen tijdens het monteren.

2. Gebruik alleen zoals bedoeld. Laat kinderen niet op het product spelen of springen. Ga niet
op het item staan en gebruik het niet als een trap.

3. Inspecteer voor elk gebruik. Gebruik het niet als onderdelen los of beschadigd zijn.

4. Draai de onderste schroeven elke drie maanden vast om te voorkomen dat de poten losraken.

5. Overschrijd de vermelde gewichtscapaciteit niet. Draai alle knoppen stevig vast voordat u de
belasting aanbrengt. Wees u bewust van dynamische belasting! De plotselinge belastingbeweging
kan kortstondig een overmatige belasting creéren, waardoor het product defect raakt.

6. Deze all-weather artikelen kunnen het hele jaar door buiten worden opgeborgen. Perfect voor
mensen die in een vochtig klimaat leven of aan de kust wonen, waar vochtigheid en vocht het

hele jaar door een probleem zullen zijn.

BEWAAR DEZE INSTRUCTIES



Machine Translated by Google

ONDERDELENLIJST

2PCS
A 1PCS
F \ 2PCs
g
AA m:DIIIIIIIIIIIHHIIIIIIIIIIIfD
B 2PCS M6*95 Winkel
BB { om0 16PCS
M6*70 Bolt
<>
cE m 4PCS
C
ii s M6*60 Bolt
DD 5- 4PCS
7 / 2PCS /




MONTAGESTAPPEN

Machine

STAP 1

STAP 2




Machine Translated by Google

STEPS

STEP4




achine Translated by Google
STAP 5

COMPLETION




Machine Translated by Google

Reiniging en onderhoud

-Gebruik een zachte, schone doek die bij het afstoffen het oppervlak niet krast.
-Als u last heeft van krassen, raden wij u aan de krassen weg te halen met een mesje.

-Dit artikel kan worden gereinigd met water en zeep. Zorg ervoor dat u geen agressieve
oplosmiddelen en schuurmiddelen gebruikt.

- Controleer regelmatig (elke 90 dagen) of de schroeven goed vastgedraaid zijn.

Sanven Technologie Ltd.
Adres: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat
WWW.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

PATIO EETKAMERSETS
(FAUTEUIL)

GEBRUIKERSHANDLEIDING

Wij streven er voortdurend naar om u gereedschappen tegen concurrerende prijzen te leveren.
"Bespaar de helft", "halve prijs" of andere soortgelijke uitdrukkingen die wij gebruiken, geven slechts een schatting weer van de besparingen die u
kunt behalen door bepaalde gereedschappen bij ons te kopen in vergelijking met de grote topmerken en betekent niet noodzakelijkerwijs dat alle categorieén

gereedschappen die wij aanbieden, worden gedekt. Wij herinneren u eraan om zorgvuldig te controleren of u een bestelling bij ons plaatst als u e

feitelijk de helft besparen in vergelijking met de topmerken



Machine Translated by Google

PATIO EETKAMERSETS

VEVOR'

TOUGH TOOLS, HALF PRICE

Model: WS-SS-001-AyWS-SS-002-B

Let op: Als u meer dan één product koopt, wees dan geduldig. De andere artikelen zijn onderweg.

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u vragen over het product? Heeft u technische ondersteuning nodig? Neem dan gerust

contact met ons op:
Technische ondersteuning en e-garantiecertificaat

Www.vevor.com/support

Dit is de originele instructie, lees alle handleidingen zorgvuldig door voordat u het product
gebruikt. VEVOR behoudt zich een duidelijke interpretatie van onze gebruikershandleiding voor.
Het uiterlijk van het product is afhankelijk van het product dat u hebt ontvangen. Vergeef

ons dat we u niet opnieuw zullen informeren als er technologie- of software-updates voor ons

product zijn.



Machine Translated by Google

PRODUCTPARAMETERS

Laden .
Model Productgrootte (BxDxH) o materiaal Kleur
Capaciteit
WS- :
300 pond Hout. Licht
SS-001-A B24,8" x D25,2" x H34,8" ) Grijs
(Max) Plastic
WS-SS- (ongeveer Composieten
630x640x885mm
002.8 ( ) 150KG) Zwart

MONTAGEVOORZORGSMAATREGELEN

1. Assembleer volgens deze instructies. Onjuiste montage kan gevaarlijk zijn.

2. Draag tijdens de montage een veiligheidsbril en stevige werkhandschoenen.
3. Kom niet bijeen als u moe bent of onder invloed van alcohol, drugs of medicijnen.

4. Gewicht en overige producteigenschappen gelden alleen voor correct en volledig gemonteerde
producten.

5. Zorg ervoor dat de verzamelplaats schoon en goed verlicht is.

6. Houd omstanders uit de buurt tijdens de montage.

GEBRUIK VOORZORGSMAATREGELEN

A WAARSCHUWING: OM ERNSTIG LETSEL EN DE DOOD TE VOORKOMEN
FOOIEN: 1.

Dit product is geen speelgoed. Houd het product buiten bereik van kinderen tijdens het
monteren.

2. Gebruik alleen zoals bedoeld. Laat kinderen niet op het product spelen of springen. Ga niet
op het item staan en gebruik het niet als een trap.

3. Inspecteer voor elk gebruik. Gebruik het niet als onderdelen los of beschadigd zijn.

4. Draai de onderste schroeven elke drie maanden vast om te voorkomen dat de poten losraken.

5. Overschrijd het vermelde draagvermogen niet. Draai alle knoppen stevig vast voordat u
belasting toepast. Wees u bewust van dynamische belasting! De plotselinge belasting

2



Machine Translated by Google

Beweging kan kortstondig een overbelasting veroorzaken, waardoor het product defect raakt.
6. Deze all-weather artikelen kunnen het hele jaar door buiten worden opgeborgen. Perfect voor
mensen die in een vochtig klimaat leven of aan de kust wonen, waar vochtigheid en vocht het hele

jaar door een probleem zullen zijn.

BEWAAR DEZE INSTRUCTIES



Machine Translated by Google

ONDERDELENLIJST

A 1PCS
B @ 1PCS
C \ 1PCS

1PCS
‘R&\
E W 2PCS
F 1PCS
G \ 1PCS
AA
4%20 Bolt PES
4PCS
BE M6+*50 Bolt
LE M6*60 Bolt N
DD M6*70 Bolt S
M 1PCS
g 1PCS




Machine Translated by Google

MONTAGESTAPPEN

STAP 1 flc

STAP 2




STAP 4




Machine Translated by Google

VOLTOOIING

Reiniging en onderhoud

-Gebruik een zachte, schone doek die bij het afstoffen het oppervlak niet krast.
- Als u last heeft van krassen, raden wij u aan de krassen weg te halen met een mesje.

- Dit artikel kan worden gereinigd met water en zeep. Vermijd agressieve oplosmiddelen
en schuurmiddelen.

- Controleer regelmatig (elke 90 dagen) of de schroeven goed vastgedraaid zijn.



Machine Translated by Google

Sanven Technologie Ltd.
Adres: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat
WWW.vevor.com/support



Machine Translated by Google

VEVOR'

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

UTePATIO MATSETS

(FYRKANTIGT BORD)
ANVANDARMANUAL

Vi fortséatter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.
"Spara halva", "halva priset" eller andra liknande uttryck som anvéands av oss representerar endast
en uppskattning av besparingar du kan dra nytta av att kdpa vissa verktyg hos oss jamfort med de stora
toppmarken och doser betyder inte nédvéandigtvis att tacka alla kategorier av verktyg som erbjuds av
oss. Du padminns vanligen om att verifiera noggrant néar du goér en bestélining hos oss om du gor det
faktiskt spara hélften i jamforelse med det framsta varumarket


http://www.vevor.com/support

Machine Translated by Google

% UTePATIO MATSETS
VEVOR®  owe,
\

TOUGH TOOLS, HALF PRICE

Obs: Ha tdlamod att de andra varorna ar pa vag om du kdéper mer an en produkt.

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfrdgor? Behover du teknisk support? Kontakta oss garna: Teknisk

support och e-garanticertifikat www.vevor.com/support

Detta &r den ursprungliga instruktionen, las alla instruktioner

noggrant innan du anvander den. VEVOR reserverar sig for en tydlig
tolkning av var anvandarmanual. Utseendet pa produkten &ar beroende

av den produkt du fatt. Ursakta oss att vi inte kommer att informera dig igen
om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.


http://www.vevor.com/support

Machine Translated by Google

PRODUKTPARAMETRAR
Belastni . ]
Modell Pfoduktstorlek (LxBxH) eastning material Férg
Kapacitet
300 Ibs
e, L31,5" xB31,5"xH34,8" Tra- _
((Max)f,, Plast CL;UOS
_ ungerar . ra
SS-001 (800X800X755 mm) 9 Kompositer
150 kg)

FORSIKTIGHETSATGARDER VID MONTERING

1. Montering maste folja dessa instruktioner. Felaktig montering kan vara en fara.

2. Anvand skyddsglaségon och kraftiga arbetshandskar vid montering.
3. Satt dig inte ihop nar du &r trott eller paverkad av alkohol, droger eller mediciner.

4. Vikt och andra produktegenskaper galler endast for korrekt och fardigmonterade produkter.

5. Hall monteringsomradet rent och val upplyst.
6. Hall askadare borta fran omradet under monteringen.




Machine Translated by Google
ANVAND FORSIKTIGHETSATGARDER

A VARNING: FOR ATT FORHINDRA ALLVARLIGA SKADA OCH DODSFALL OM ATT VALTA: 1. Denna
produkt ar

inte en leksak. Hall produkten borta frAn barn nar den monteras.

2. Anvand endast pa avsett satt. Lat inte barn leka eller hoppa pa produkten. Sta inte pa
foremalet eller anvand som en stege.

3. Inspektera fore varje anvandning. Anvand den inte om delar &r I8sa eller skadade.

4. Dra at de nedre skruvarna var tredje manad for att forhindra att benen lossnar.

5. Overskrid inte den angivna viktkapaciteten. Dra at alla knoppar ordentligt innan du
applicerar belastning. Var uppméarksam pa dynamisk laddning! Den plotsliga lastrérelsen
kan kortvarigt skapa en 6verbelastning, vilket kan orsaka produktfel.

6. Dessa allvadersartiklar kan forvaras utomhus aret runt. Perfekt for manniskor som lever
i ett vatt klimat eller bor vid kusten dar fukt och fukt kommer att vara ett problem aret runt.

SPARA DESSA INSTRUKTIONER



"BELLISTA




MONTERINGSSEG

Machine

STEG1

STEG2




Machine Translated by Google

STEPS

STEP4




achine Translated by Google
STEG 5

COMPLETION




Machme Translated by Google
Rengoring och underhall

-Anvand en mjuk, ren trasa som inte repar ytan nar du dammar.
-Om du stoter p& problem med repor, foreslar vi att du raderar reporna med en kniv.

-Detta foremal kan rengéras med tval och vatten se till att undvika starka I6sningsmedel och
slipmedel.

- Periodiskt (var 90:e dag) se till att skruvarna &r helt atdragna.

Sanven Technology Ltd.
Adress: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730


andwater.Be

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Teknisk support och e-garanticertifikat
www.vevor.com/support



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

PATIO MATSETT S
(FATOLYJ)
ANVANDARMANUAL

Vi fortsatter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.
"Spara hélften”, "halva priset" eller andra liknande uttryck som anvands av oss representerar bara en uppskattning av besparingar du kan dra nytta av att
kopa vissa verktyg hos oss jamfort med de stora toppmarkena och betyder inte ngdvandigtvis att técka alla kategorier av verktyg som erbjuds av oss. Du paminns

vanligen om att verifiera noggrant nar du gor en bestallning hos oss om du &r e

faktiskt spara halften i jamforelse med det framsta varumarket



Machine Translated by Google

® UTePATIO MATSETS

TOUGH TOOLS, HALF PRICE

Modell: WS-SS-001-AyWS-SS-002-B

Obs: Ha tdlamod att de andra varorna ar pa vag om du képer mer &n en produkt.

BEHOVER HJALP? KONTAKTA OSS!

Har du produktfragor? Behéver du teknisk support? Kontakta oss garna:

Teknisk support och e-garanticertifikat
www.vevor.com/support

Detta ar den ursprungliga instruktionen, 1as alla instruktioner noggrant innan du
anvander den. VEVOR reserverar sig for en tydlig tolkning av var anvandarmanual.
Utseendet pa produkten &ar beroende av den produkt du fatt. Ursékta oss att vi inte
kommer att informera dig igen om det finns nagon teknik eller mjukvaruuppdateringar pa
var produkt.



Machine Translated by Google

PRODUKTPARAMETRAR

Modell Pfodukstorlek (BXDxHY Belastning material Farg
Kapacitet

WS- .
300 Ibs . Ljus

SS-001-A B24.8" xD25.2"xH34.8" Tra- Gra

(Max) Plast
WS-SS- (ungefar K .
630x640x885 mm ompositer
002-B ( ) 150 kg) Svart

FORSIKTIGHETSATGARDER VID MONTERING

1. Montering maste folja dessa instruktioner. Felaktig montering kan vara en fara.

2. Anvand skyddsglasdgon och kraftiga arbetshandskar vid montering.
3. Satt dig inte ihop nar du ar trétt eller paverkad av alkohol, droger eller mediciner.

4. Vikt och andra produktegenskaper géller endast for korrekt och fardigmonterade produkter.

5. Hall monteringsomradet rent och vl upplyst.
6. Hall &skadare borta fran omradet under monteringen.

ANVAND FORSIKTIGHETSATGARDER

A VARNING: FOR ATT FOREBYGGA ALLVARLIGA SKADA OCH DODSFALL AV
TIPS: 1.

Denna produkt &r inte en leksak. Hall produkten borta fran barn nar du monterar den.

2. Anvand endast pd avsett satt. Lat inte barn leka eller hoppa pa produkten. St inte pa
foremalet eller anvand som en stege.

3. Inspektera fore varje anvéndning. Anvand den inte om delar ar I6sa eller skadade.

4. Dra &t de nedre skruvarna var tredje manad for att férhindra att benen lossnar.

5. Overskrid inte den angivna viktkapaciteten. Dra t alla knoppar ordentligt innan du
applicerar belastning. Var uppmarksam pa dynamisk laddning! Den plétsliga belastningen

2



Machine Translated by Google

rérelse kan kortvarigt skapa en éverbelastning, vilket orsakar produktfel.
6. Dessa allvadersartiklar kan forvaras utomhus aret runt. Perfekt for
manniskor som bor i ett vatt klimat eller bor vid kusten dar fukt och fukt
kommer att vara ett problem aret

runt. SPARA DESSA INSTRUKTIONER



Machine Translated by Google

DELLISTA

D 1PCS
‘R&\
A 1PCS :
E 2PCS
J
F 1PCS
B 1PCS
G 1PCS
AA 4P
: 4%20 Bolt e
1PCS
4PCS
BE M6+*50 Bolt
6PCS
LE M6*60 Bolt
DD M6*70 Bolt S
M 1PCS
g 1PCS




Machine Translated by Google

MONTERINGSSEG

STEG1 flc

STEG2




STEG 4




Machine Translated by Google

KOMPLETTERING

Rengoring och underhall

-Anvand en mjuk, ren trasa som inte repar ytan nar du dammar.
- Om du stoter pa problem med repor, foreslar vi att du raderar reporna med en kniv.

-Detta féremal kan rengéras med tval och vatten. Se till att undvika starka l6sningsmedel och
slipmedel.

- Med jamna mellanrum (var 90:e dag) se till att skruvarna ar helt atdragna.



Machine Translated by Google

Sanven Technology Ltd.
Adress: Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE
Teknisk support och e-garanticertifikat
www.vevor.com/support



